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�-84 − 6- ;7 + 8-;7 − 4-67 + -�7 − �  *9+
� − -9 + 4-�4 − 8-;  *:+

8Y − 4Y -8 + Y4-8 − 8-  *;+
6-
�9  + 8-  �4 − 4-4  84 + -8 4 − 6  *>+

6�4-4 = 4c 8-4 −m × 8*�+ × 4B�  * � +  *�7+
67�

6-�9 = 6c 8-4 −m × �*�+ × 6B�  *A+   
�7 *�4+  6− *��+
:− *�6+  97 *�8+

8F �9 + >:  * � +  *��+
�>6 = 6 c 8F − 4m + 6 c 8F + 4m   ∴   8F�9 − >: = 6 c 8F − 4m  *A+   

�8-  + �4- " - 8 + �- " 4-8 +8- = 8c �- + -n  *�9+
c

�- + -n 8 + c �8-  + 8-n = �8-  + 8- + -8 +8- =   
�- + 6-�7 + 8-67 + 4- ;7 + - ;7 + 84 = �c- + 4n  *�:+

� ��E�E�F ����� A �����!�
; − -�4 + 4- 9 − 8-  *�+
8Y − 4Y8 + Y8 − �  *4+
8Y + 4Y8 + Y8 + �  *8+

8A + 4A 84  + A 86  + �;  *6+



��

6A;� + 8A  4�9 − 4A4  4�9 + A 8  >9 − 6  �9  *�+
�

6-  + 6
4-  + 9 + 4- 6 + 6-  *9+

� + 4-8 + 6- 8 + 9-  *:+
; = �*4+ × 8B6  *;+

8� = 6B:  *>+
 8F ��4 = c 8F �9 − >: c − c 8F �9 + >: c  *�7+

67 =  *��+
9- × 9B: + �- × �B: + 6- × 6B: + 8- × 8B: + 4- × 4B: + - × �B: + :� × 7B: = :c - + � c  *�4+

:- + 9-: + �-4� + 6-8� + 8-8� + 4-4� + -: + � = :- × :B: +   

8−� � ���  @[
K\�

 �	���� �����  �����!�
�]S
,�  *�+

^QS
,� _`  *4+
�]S
,�  *8+

7a�4 = 7a8 × 7a6  *6+
�� = 4� × �4  *�+

7a66 = 7a�6 + 7a8  *9+
7a; = 7a4 +7a9  *:+

7 *D$+  7a9� *A+  7a9 * � +  *;+
7a4� *Db+  7a:� * � +  

7a6� = 7a4� − 7a8 + 7a6 *A+  7a:� * � +  *>+
7a�� *D$+  

:�7 *D$+  �� *A+  4� * � + *�7+
7a� = 7a: − 7a8 + 7a�  *��+

8:97 = 6; − 6� + 67
97  = 6� − 86 + 48 *A+  6� * � + *�4+

�
4  = �

�  − :
�7  *�8+



��

�
4  *A+  �4  * � + *�6+
�
8  * � +  7 *D$+  

*�]S
,� ��c�U�+  4
�� = �

8  × 4
�  *��+

88
477 *A+  >

67 = 6�
477 * � + *�9+

8:
�7 = �6;

477 = �4
477 − � �� 8:

�7 = �6;
477 = 6� − ��� + :;

477  *D$+  
:

87 = 4;
�47 *D$+   >

46 = 6�
�47 *A+   :

�4 = :7
�47 * � + *�:+

6:
�47 *�+  9:

�47 *Db+  8�
97 = 94

�47 = 8 − �� + �7
�47  * � +  

� ��E�E�F ����� A �����!�
�]S
,� *4+  �]S
,� *�+

7a74;; = 7a46 × 7a�4 *6+  ��  = :
�� × 8

:  *8+
>

�7 = 8
�7 + 8

�  *9+  7a8 = 7a�9 + 7a�6 *�+
7 *D$+  7a:� *A+  7a: * � +  *:+

� *Db+  7a>� = 7a4� + 7a: * � +  
7a8� *D$+  7a9> = 7a�; − 7a84 + 7a�� *A+  7a9; * � +  *;+

"��	
�L
� � d� & ,7 = 7a: − 7a6� + 7a4� = *� ∩ &+ @  *>+
"�fg _` �hb� � < �a� = 7a6 + 7a: = *�+@ + *&+@ ,]H  *�7+

7a4�9 = 7a��4 − 7a�4� + 7a468 = *A+@  *��+
7a:;6 = c A n@   

�
4 = 9

�4 *A+   �
�4 * � + *�4+

 �
6 = 8

�4 * � +  �
�4 *D$+   

4
8 = 6

9 *A+  �8 = 4
9 * � + *�8+



��

�,��i� j�K��� ���
k�
@�S!� �Ql��

4 :87 = 8@�� *4+  694 = �B�� *�+
7a7>�4 = 7a46 × 7a8; *6+  6-�9 + 8-84 − 4-46 + -; − � *8+

7a�8 = 7a47 + 7a88  *�+
4�
�7 = 987

� �77  * � +  *9+
�;
:� = ��7 + 97 + :� + ���

� �77  *A+  

�	��m�!� ��L���
A  *8+  A  *4+  �  *�+
�  *9+  �  *�+  �  *6+

A  *>+  A  *;+  A  *:+
	  *�4+  A  *��+  	  *�7+

D$  *��+  	  *�6+  D$  *�8+
�  *�;+  A  *�:+  	  *�9+

D$  *4�+  D$  *47+  �  *�>+
A  *46+  �  *48+  A  *44+

�	n��co �����
�6 = �4 × 48 × 86  *�+

6 777 = 8�7 × 6  * � +  *4+
:47 = ; × > × �7  *A+  

4 777 = � × �7 × �7 × 6  *D$+  
:�f��e �78  + �

6-  �- + 6-�4n ≠ 9e �- + -n − 9e �- + -n  *8+
 �

6-  �B9 4 + 8B9 4 + 6- �B9 4 = 9e �- − -n − 9e �- + -n

e
�78  + �

6-  + 6-n �4 =
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